


32

The sequence is increasing by 6, so I added 6 
to 26.

14

The sequence is increasing by 3, so I added 3 
to 11.

122



27

The sequence is increasing by 4, so I added 4 
to 23.

403

19   22   25   28   31   34
37   40   43   46  49

49 - 34 = 15

15



21

To get the next term, add 4 to the previous 
term

162

To get the next term, multiply the previous 
term by 3.

16

To get the next term, divide the previous 
term by 2



17     22

17                22

47               95

39

The sequence is increasing by 6, so I added 6 
to 33.

302 is an even number, all the numbers 
in the sequence are odd



24

The sequence is increasing by 4, so I added 4 
to 20.

8  12  16  20   24   28   32   36  40 40

1001 is an odd number, all the numbers 
in the sequence are even

11 is an odd number, all the numbers in 
the sequence are even

100               92



28  33  38  43  48

48

22  28   34   40   46  52  58

28, 58

+ 21

+ 7 + 7 + 7

15                22



-5 x 4 = -20

-20 - 3 = -23 -23

20 ÷ 2 = 10
10 - 4 = 6

6



7

4

5a + 13b


